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YARBETSBLAD  30

Beräkna det hela (II)

1	 60 % av ett tal är 42. Vilket är talet?

	 60 % av talet = 42

	 10 % talet = 
42

 = _______

	 100 % av talet = ______
	 Svar: _____________________________

2	 70 % av ett tal är 56. Vilket är talet?

	 70 % av talet = 56

	 10 % av talet =  = _______

	 100 % av talet = ______
	 Svar: _____________________________

3	 3 % av ett tal är 9. Vilket är talet?

	

4	 30 % av ett tal är 27. Vilket är talet?

	

5	 12 % av ett tal är 36. Vilket är talet?
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FACIT

1	 70

2	 80

3	 300

4	 90

5	 300


